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Worksheet 7 KEY — Polynomial Functions (84.2 and §4.4)
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2.
(@) 4x% +3x — 1= (x —3)(4x + 15) + 44
b)2x3 —x+1=@E*+x+x)2x—2)+ (—x +3)
(c) 5x* —3x3+2x?2 —1= (x> +4)(5x*> —3x —18) + (12x + 71)
(d)—x°+7x3—x=((x3—x2+1)(—x2—x+6)+ (7x? - 6)
3.
@3x?—2x+1=(x—-1Bx+1)+2
(b) x2 =5=(x—=5)(x+5)+ 20
©) x*+8=(x+2)x?-2x+4)+0
(d) 4x3 4+ 2x — 3 = (x — 3)(4x? + 12x + 38) + 111
(€) 18x% — 15x — 25 = (x —g) (18x + 15) + 0
(f) 4x2—1=(x—%)(4x+2)+0
@) x*—6x2+9=(x—V3)(x*+V3x2 = 3x —3V3) + 0
(h) x® — 6x* + 12x% — 8 = (x + vV2)(x® — V2x* — 4x® + 4V2x% + 4x — 4/2) +
0
4,
(@) p(4) =29
(b) p(12) =0, p(x) = (x — 12)(4x + 15)
() p(—=3) = —45
@p(3) =1
e) p(-1) =2
(f) p(2) =0,p(x) = (x —2)(3x* + 4)
(C)§7 (—%) =0,p(x) = (x +%) (8x%2 +8x + 2)
(h)yp(2—=+v3) =0,p(x) = (x —(2- \/5)) (x —(2+ \/5))
5.

@) p(x) = (x = Dx +3)(x - 2) ©px)=x+DE+2)(x-3)(x—-4)
O p) =G+ Dx+2)(x-1  (d)p) =x*(x - Dx+H(x—-2)



